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Ideals for irreducible component#ﬂ)f Xpar

= (w20 kb1, " = a1, W 205 —2u— 1)
Iy = (b, —u>+a+u—1, u* —u®+u®+1)

* 2 irreducible components of dim¢ = 0, with total 63 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings
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ag = \gM + % +4u"+3u® +3u + u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u® + 8u°" + .-+ — 13u — 5

cee—2u—1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1 w?? +27u”® + -+ - — 1984u — 256
C2,Cq u?? —u® 4. — 56u + 16
c3,C10 u59+2u58+---—2u—1
Cy4,C5,C7 ub? —B5uS® 240 1
Cg,Cg, C11 u59—12u58+~"+2u+1
C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y? + 3y°8 4 ... — 2207744y — 65536
2, Cg y*0 +27y%% + ... — 1984y — 256
€3, C10 0 128 42y —1
C4,Cs5,C7 y*0 =53y ... — 48y — 1
08709721; y59+72y58+'“+50y71




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + /—1CS) Cusp shape
u = —0.343246 + 0.9294307
a = 0.23393 4 2.038371 —2.90400 — 0.485341 —3.04622 — 0.930991

b= 0.385366 — 0.9922011

u = —0.343246 — 0.9294301
a= 0.23393 —2.038371 —2.90400 + 0.485341 —3.04622 4 0.930991
b= 0.385366 + 0.9922011

u = —0.530651 4 0.8687091
a = —1.04989 + 1.478631 —3.01197 + 4.862381 —3.57054 — 6.437811
b= 0.958742 — 0.4523651

u = —0.530651 — 0.8687091
a = —1.04989 — 1.478631 —3.01197 — 4.862381 —3.57054 4 6.437811
0.958742 + 0.4523651

0.512834 + 0.8195341
—2.07477 — 1.148021 —2.20006 — 2.455901 —5.34282 4 5.823881
0.344806 — 0.8327651

0.512834 — 0.8195341
= —2.07477 4 1.148021 —2.20006 + 2.455901 —5.34282 — 5.823881
= 0.344806 + 0.8327651

0.517835 + 0.9017201
2.57194 + 0.491491 —0.05687 — 6.757621 0.4 9.228201

0.517835 — 0.9017207
2.57194 — 0.491491 —0.05687 4 6.757621 0. —9.228201
—0.571645 — 0.9898871

—0.431886 + 0.8552751
0.42205 — 1.467171 1.17445 + 2.046751 3.24024 — 3.821201
—0.622029 4 0.5740051

—0.431886 — 0.8552751
= 0.42205 4 1.467171 1.17445 — 2.046751 3.24024 + 3.821201
= —0.622029 — 0.5740051

b
U
a
b
U
a
b
U
a
b= —0.571645 + 0.9898871
U
a
b
U
a
b
U
a
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Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.104023 + 0.9468891
—2.13002 — 1.927681
0.550439 + 1.0575701

—1.60171 + 5.758771

0.24744 — 6.030891

—0.104023 — 0.9468891
= —2.13002 4 1.927681
= 0.550439 — 1.0575701

—1.60171 — 5.758771

0.24744 + 6.030891

= 0.731988 4+ 0.7631691
= 0.800342 + 0.0622331
= —0.112548 4 1.1979501

—9.65537 — 2.668831

—9.83468 + 3.252721

= 0.731988 — 0.7631691
= 0.800342 — 0.0622331
—0.112548 — 1.1979501

—9.65537 + 2.668831

—9.83468 — 3.252721

0.537997 + 0.9447441
—2.66911 — 0.073811
0.647369 — 1.1588901

—5.25013 — 10.717601

—4.54465 + 9.459871

0.537997 — 0.9447441
= —2.66911 4 0.073811
= 0.647369 4 1.1588901

—5.25013 4 10.717601

—4.54465 — 9.459871

= —0.057586 + 0.8827771
= 2.31101 4 1.395001
= —0.592455 — 0.8103741

3.06980 + 2.340271

6.64897 — 4.484051

= —0.057586 — 0.8827771
= 2.31101 — 1.395001
= —0.592455 + 0.8103741

3.06980 — 2.340271

6.64897 + 4.484051

= 0.714820 + 0.4953751
= 0.447234 — 0.1362101
= —0.585668 — 1.1881701

—6.70702 + 6.088531

—8.24622 — 3.554761

0.714820 — 0.4953751
= 0.447234 4+ 0.1362101
= —0.585668 + 1.1881701

> Q@ €| & €|l & €| Q& €| 2 &)l Q@ &)l Q@ €|l & €|l & &> & &
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—6.70702 — 6.088531

—8.24622 + 3.554761




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.566605 + 0.6493881
—0.266615 — 1.1885201
—0.124692 — 0.8670501

—2.75909 — 1.659661

—8.41788 4 3.665041

0.566605 — 0.6493881

= —0.266615 + 1.1885201

—0.124692 + 0.8670501

—2.75909 + 1.659661

—8.41788 — 3.665041

—0.611622 + 0.5773901
1.131410 — 0.4406261
—0.956464 — 0.3084361

—3.94508 — 0.544901

—6.77151 — 0.507711

—0.611622 — 0.5773901
1.131410 + 0.4406261
—0.956464 4 0.3084361

—3.94508 + 0.544901

—6.77151 4 0.507711

0.629823 + 0.5139471
—0.474587 + 0.5520201
0.472585 +0.9711101

—1.28323 + 2.439631

—4.50558 — 3.222041

0.629823 — 0.5139471
—0.474587 — 0.5520201
0.472585 — 0.9711101

—1.28323 — 2.439631

—4.50558 + 3.222041

0.050655 + 0.8090731
—2.80210 — 0.731231
0.654760 + 0.5201621

0.057074 — 1.0430301

3.86720 + 0.465671

0.050655 — 0.8090731
—2.80210 + 0.731231
0.654760 — 0.5201621

0.057074 + 1.0430301

3.86720 — 0.465671

0.802556 + 0.9098731

= 0.645306 — 0.5245521 | —9.57681 — 3.008941 0
= 0.073782 + 0.9226491
= 0.802556 — 0.9098731
= 0.645306 4 0.5245521 | —9.57681 + 3.008941 0

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
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0.073782 — 0.9226491




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.878048 + 0.9000661
—0.608654 — 0.2484941
0.743403 — 0.3494691

—6.92983 — 1.938191

0.878048 — 0.900066.1
= —0.608654 + 0.2484941
0.743403 + 0.3494691

—6.92983 + 1.938191

—0.908427 4 0.8931521
= —0.394230 — 0.5151321
0.548605 — 1.1273701

—9.26800 — 2.972671

—0.908427 — 0.8931521
—0.394230 + 0.5151321
0.548605 + 1.1273701

—9.26800 + 2.972671

0.862553 + 0.9382721
0.210045 + 0.7116631
—0.759924 — 0.3821141

—6.80919 — 4.508071

0.862553 — 0.9382721
0.210045 — 0.7116631
—0.759924 +- 0.3821141

—6.80919 + 4.508071

—0.350516 + 0.6312811
—0.830854 + 0.1963401
0.379823 + 0.2579141

0.162716 + 1.1329707

2.90169 — 5.380401

—0.350516 — 0.6312811
—0.830854 — 0.1963401
0.379823 — 0.2579141

0.162716 — 1.1329701

2.90169 + 5.380401

—0.922367 + 0.8859211

= 0.414846 + 0.1643651 —14.8968 — 7.28411 0
= —0.69639 4 1.255751

= —0.922367 — 0.8859211

= 0.414846 — 0.1643651 —14.8968 + 7.28411 0

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
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= —0.69639 — 1.255751




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= 0.906516 + 0.9024731
= 0.880104 + 0.3878901
—1.146010 + 0.4245971

—12.19390 4 0.699421

0.906516 — 0.9024731
= 0.880104 — 0.3878901
—1.146010 — 0.4245971

—12.19390 — 0.699421

—0.899151 4 0.9100171
0.012912 + 0.9339121
—0.290358 + 1.0865401

—11.05620 4 2.064841

—0.899151 — 0.9100171
0.012912 — 0.9339121
—0.290358 — 1.0865401

—11.05620 — 2.0648471

—0.881614 + 0.9461661
= —1.35992 + 1.228511
0.320527 + 1.0809301

—10.93940 +- 4.509381

—0.881614 — 0.9461661
—1.35992 — 1.228511
0.320527 — 1.0809301

—10.93940 — 4.509381

0.880655 + 0.9556681
—0.445587 — 0.9844121
1.141580 + 0.4495821

—12.02220 — 7.293241

0.880655 — 0.9556681
—0.445587 4+ 0.9844121
1.141580 — 0.4495821

—12.02220 4 7.293241

—0.875312 4 0.9620711
1.78278 — 1.050801
—0.569196 — 1.1244901

—9.04599 + 9.554301

= —0.875312 — 0.9620711
= 1.78278 4+ 1.050801
= —0.569196 + 1.1244901

> Q@ €| & €|l & €| & €| Q& | & 8| & 8|l & 8|l & 8| & g
Il

—9.04599 — 9.554301




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

u = —0.913352 + 0.9395431
a= 0.829208 — 0.487224]
b= —0.01243 — 1.449151

—19.6434 + 3.36131

u = —0.913352 — 0.9395431
a= 0.829208 + 0.4872241
b= —0.01243 + 1.449151

—19.6434 — 3.36131

u = —0.877468 + 0.9751511
a = —1.93743 + 0.830231
b= 0.71000 4 1.245901

—14.6076 + 13.91561

u = —0.877468 — 0.9751511
a = —1.93743 — 0.830231
b= 10.71000 — 1.245901

—14.6076 — 13.91561

u = —0.626785 + 0.1718881
a= 0.501490 — 0.0818951
b= —0.432777 — 1.1160701

—5.26927 + 3.825401

—8.88049 — 3.825551

u = —0.626785 — 0.1718881
a = 0.501490 + 0.0818951
b= —0.432777 4 1.1160701

—5.26927 — 3.825401

—8.88049 + 3.825551

u = —0.424302 + 0.2378481
a = —0.692243 + 0.5601991
b= 10.363149 + 0.7006441

—0.194105 + 1.2035501

—3.60543 — 5.010217

u = —0.424302 — 0.2378481
a = —0.692243 — 0.5601991
b= 10.363149 — 0.7006441

—0.194105 — 1.2035501

—3.60543 4 5.010217

u= 0.330842
a= 2.08280
b= —0.644701

—2.22425

—4.28740
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II. I = (b, —u? ' +a+u—1, u* —u® +u?+1)

(i) Arc colorings

0
ail = \u
1
a4 = U2
w—u+1
ag = 0
1
ag = 0
w—u+1
a7 = 0
w—u+2
a5— u2
1
ar = \0
U
a0 = \ud+u
uB
a1z = \y3 -2 -1
—u?—1
ag = 7u2

(ii) Obstruction class =1

(iii) Cusp Shapes = 3u? — 2u — 1
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,Ce u?
cs3 S B BN
C4,C5 (u— 1)4
7 (u+1)*
cg, Co P+ 3+ 2u+1
C10 Wt +u? 41
C11,C12 =+ 3u—2u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cp y4
¢, 10 V4t 32 241
C4,C5,Cr (y —1)*
‘38’09’2; Y +5y° + Ty + 2y + 1

13



(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

U= —

0.351808 + 0.7203421
0.95668 — 1.227191

—1.43393 + 1.415101

—1.48175 — 2.961221

b= 0

= —0.351808 — 0.7203421
a= 0.95668 + 1.227191 —1.43393 — 1.415101 | —1.48175 4 2.961221
b= 0
uw = 0.851808 4 0.911292]
a= 0.043315 + 0.641200] | —8.43568 — 3.163961 | —3.01825 + 2.834891
b= 0
u = 0.851808 — 0.911292]
a= 0.043315 — 0.6412001 | —8.43568 + 3.163961 | —3.01825 — 2.834891
b= 0
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 ut (uP + 27u®® + - — 1984u — 256)
2, Cg ut (P —uP® 4 - — 56u + 16)
Cs (u* —ud +u® + )W + 205 4 —2u—1)
C4,Cs (u— D)W = 5u®® + - 4 240 4+ 1)
¢ (w4 D)MW = 5u’8 + - 4 2402 + 1)
cs, Co (u* +u? +3u® + 2u + 1) (u® — 120 4 - +2u + 1)
10 (u* +u? +u? + 1) + 20 4 = 2u— 1)
c11,C12 (u* —u® +3u® — 2u+ 1) (u® — 120 + - +2u + 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
1 v (v + 3958 + . — 2207744y — 65536)
4¢, 59 58
Ca, Cg y (v +27y°° 4 - - - — 1984y — 256)
c3, C10 W' +y° +37 + 2+ (™ + 12+ + 2y — 1)
C4,C5,C7 (y— DYy — 53" + - — 48y — 1)
Cg,C9,C11 (y4 + 5y3 + 7y2 + 2y + 1)(y59 + 72y58 + coe b 50y _ 1)
C12
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